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Vertex Form
y=alx-h)2s+k

Name:
Hour:

What Is the axis of symmetry for
FO) = (x e D2 - 42

@ /v ore quadratic equations wrilten in
vertex form? Exploin,

@ Whot is the verfex for
6= 6+ 0242

@ Change the quadratic equation
y = (x +I? - Y fo sfandard form. Calcuate
fhe axis of symmetry and vertex

@ Compiete the fable for Fx) - (x + 17 - 4,

L3 Y

@ Cronge the quadratic equation
¥+ (x+ )2 - Yo Infercept form. Calculate
fhe axis of symmetry and verfex

@ Draw the axis of symmelry and the
points. Skelch the parabia.

ALy

@ \write an equation in vertex form for the
parabola graphed below.

¥

i i
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VERTEX FORM v = a(x - h)2 + k
SCAVENGER HUNT WORKSHEET

Hour:

Name:

Solve the first problem. The answer to this problem willead you fo the next problem fo be
completed. Look at fhe answers in the gray rectanguiar boxes. You shoud find your answer.
Complete the next problem and so on untl you have finished dl fwelve probleme.

START open up u%’bf’

TFYOUFOUND ... k-value

TFYOUFOUND... Tfrue

If the a value is -5, the
parabola will open up

or open down.

The parabola will pass
through the origin when
the k-value is this value.

»

When an equation is
writfenin verfex form,
it is easy to identify

the.. *

TFYOUFOUND ... (-3, -5)

Complefing
BALLLLD:: “the Square!

IFYOUFOUND... zero

Idenfify the vertex.

»

y=x-3+5

The parabola will open
up or open down?

y=2x=37-5 *

Change the following

equation fo verfex

form.

y=x+8x+ B

TFYOUFOUND... h-value

TFYOUFOUND ... P
* down

TFYOUFOUND... (3,5)

The k-vdlue is the same
as the x-coordinate or
y-coordinate of the

veriex? *

The h value will move
the parabola vertically
up or down,

True or False? *

To idenfify the axis of
symmelry, you should
look af the h-value or

the k-value? *

TFYOUFOUND ... false

IFYOU FOUND Y = O+ 7|

TFYOUFOUND ... verfex

The k value will move
the parabola vertically
up or down.

True or False? *

This process is used
fo change an equation
in standard form fo

verfex form. *

Idenfify the vertex.

b

y=(x+3)-5
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QUADRATICS

Vertex Form
y=alx-h32+k

The graph of 'y = alx - hY +k is the graph of 'y = ax?
franslated h units horizonfally and k unifs vertically.

The vertex s (h. k).

The axis of symmefry is x = h,

The parabola opens up if a > 0 and opens down if a < 0.

Graph a quadratic function in infercept from.

y=-(x-22+q
Step | Tdenfify the values of a, h. and k.
a- h= k=

Tdentify if your parabola will open up or open down.

Step 2: Draw the axis of symmefry. x = h

Step 3: Plof the vertex (h, k).

Step 4 Plof four points. Choose two x-values less than the
x-coordinafe of the verfex *

y x v
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QUADRATICS

y=-x-2)2+q

T

—

v

Take alook af the parent function (y = x?) and your newly

graphed quadratic function. Compare the two functions.

Examine the vertex of each one.

+ Did the new parabola shift up/down (vertical franslation).

+ Did the new parabola shiff left/right (horizontal translation).

+ Was the new parabola reflecled, or flipped?

« Were the poinis on the new parabola moved closer (verfical shrink)
or further away (vertical strefch) from the x-axis?





